torkot?inon
Stud buck reindeer

OJ1eHb-IPOU3BOAUTE/ b

1.1 ) . .
?emi me ... a migkori?om ongen tor
?emi *me minp -ko -1 =?om ongen *tor
rae FST rne LOC ADV.ALL =EMPH DET  FST
where FST where LOC ADV.ALL =EMPH DET  FST
tarkol?inon yelgotlin
torko -1? -ingd  -n ye- Igot -lin
tectukyna ATTR AUG NOM.SG PF wuaru PF.3SG
testicle ATTR AUG NOM.SG PF go PE3SG
I'ne, xyaa 3ToT npou3BoAUTENb YIIEN?
Where, where did this stud buck reindeer go?
1.2
3TO0 ... Pott?oyoryone yekene
PottPoyoryo -n =e yeken -¢
bItteireiprun NOM.SG =PTCL  ynpsokka INS
Yttygyrgin ~ NOM.SG =PTCL team INS
pakiry?i?m
?- pakir -y? -i =?m
2/3.S/A mpubsBare TH 2/3SG.S =EMPH
2/3.S/A arrive TH 2/3SG.S =EMPH
BITTBITBIPrEIH TpUEXa Ha OJIEHBEH YIPSIKKE.
Yttygyrgyn arrived on a reindeer sleigh.
1.3 .
tonaraytona jPonen ange
tonarayt -ona ?- j?0 -ne -n ange
Teinapartein AN.INS  2/3 S/A nHacturare 3SG.A.3.0 3SG.O DET
Tynaragtyn AN.INS 2/3.S/A overtake 3SG.A.3.0 3SG.O DET

napseniqinet

no- pseni -qine -t
ST paccopammBare ST.3SG PL
ST question ST.3SG PL

TeiHaparTeiH MOMEN eMy HaBCTpedy, U OHH Ha4dalll pa3roBapuBarh.
Tynaragtyn went to meet him, and they began to talk.



14 peekkeqeyti naqam otri  angene Harama wu Banepus

ne- ekke -qey -ti nagam otri  ongen =e
FEM cein DIM NOM.PL opnako onu DET =PTCL
FEM son DIM NOM.PL however they DET =PTCL

nokotyontor?oqgenat yorolmako  orok

no- kotyonts -r?o -gena -t yorolmake oro -k
ST 6exarps DISTR.S ST.3SG PL Bokpyr onn LOC
ST run DISTR.S ST.3SG PL around they LOC

Hy Tam neBouku — Harama u Banepust — GeratoT BOKpyT HUX.
Well, there girls—Natasha and Valeria—were running around them.

= Hp30 tonaraytona ... a tonyetine ongene
tonarayt -ona togeti  -ne ongen =e
TemaparteiH AN.INS Tematn AN.INS DET =PTCL
Tynaragtyn AN.INS Tyngeti AN.INS DET =PTCL

qaawjatol?one 2ott?oyaoryon

gaa wjato 20 -n =e PottPoyoryo -n

onenb  pacnparatb ATTR NOM.SG =PTCL blrreirsiprun NOM.SG
reindeer unharness ATTR NOM.SG =PTCL Yttygyrgin = NOM.SG

jPonen?ome aytannenat

?- j?0 -ne -n =?om  =e¢ ?- aytan -ne -na -t
2/3.S/A Hacturatb 3SG.A.3.0 3SG.O =EMPH =PTCL 2/3.S/A tHate 3SG.A.3.0 3SG.O PL
2/3.S/A overtake 3SG.A.3.0 3SG.O =EMPH =PTCL 2/3.S/A drive 3SG.A.3.0 3SG.O PL

ongen qaat ?2oranoonre

ongen gaa -t Pora- poon -re

DET onmesr NOM.PL TOWARDS tam ADV.ALL
DET  reindeer NOM.PL TOWARDS there ADV.ALL

TeiHaparTbiH... a — TBIHATH — MOWIEN K pacnpsraBlieMy OJ€HEH bITTBINBIpruHy, OTOrHaI T€X OJIEHEHN B
JIPYTYIO CTOPOHY.

Tynaragtyn... no—Tyngeti—went to Yttygyrgyn who was unharnessing reindeers and drove those reindeers
in the other direction.

1.6
Hp30 nagam masyoryosa?ome qaaytatol?on

nagam mas- yoryosa =fom = =e qaa aytato -120  -n

onHako  APPR Bepxy =EMPH =PTCL onesnr rHare ATTR NOM.SG

however APPR above =EMPH =PTCL reindeer drive ATTR NOM.SG
?urenunrito aagq?om ... ongen ji ... Yya ... Yya
?ure- nun -rifo *aaqPom ongen *ji *ya *ya
TOWARDS Ttam.B.cropone ADV.ALL.EXH FST DET  FST FST FST

TOWARDS there.on.the.sidle ADV.ALL.EXH FST DET  FST FST FST



yakanjot nena
yakanjo -t *nena
napa.ynpsbkabix.onmeneit NOM.PL  FST
pair.of.sledge.reindeers NOM.PL FST

nenarenatgenat nalwol?eto

n- ena- repat -gena -t palwal? -eto
ST INV OTroHsTh.CTa/10.0T.CTOHOMIIA ST.3SG PL crano DAT
ST INV drive.a.herd.away.from.the.camp ST.3SG PL herd DAT

Ha BO3BBINIEHHOCTH MACTYX BOH TyJa TEX YIPSDKHBIX OJICHEH THAJl OT CTOMOUINA K CTaTy.
On a hill, a shepherd drove those sledge reindeers from the camp to the herd.

L7 tonaraytona?om Pott?oyoryon nenamnaiogen
tonarayt -ona =?om 2attPoyarys -n n- ena- myalo -qen
TemaparteiH AN.INS =EMPH  bItteireiprun NOM.SG ST INV cnpammusars ST.3SG
Tynaragtyn AN.INS =EMPH Yttygyrgin NOM.SG ST INV ask ST.3SG
mingkori?om torkol?inon jee .oyel L0 ye
min -ko -1 =?om torko -1? -ino -n *jee *yel *ye
rae LOC ADV.ALL =EMPH Ttectukyna ATTR AUG NOM.SG FST FST FST
where LOC ADV.ALL =EMPH testicle ATTR AUG NOM.SG FST FST FST
yelqgotlin
ye- igot -lin

PF wuntu PF.3SG
PF go PE3SG

TerHapartsiH cripamuBaeT bITTeirsipruna: «B kakyro cTOpoHY NPOU3BOAUTEN MOLIEN?Y.
Tynaragtyn asks Yttygyrgin: «Which way did the stud buck reindeer go?».

1.8 tarkol?inon Pemi

torko -1? -ind -n ?emi
tectukyna ATTR AUG NOM.SG rze
testicle ATTR AUG NOM.SG where

«I'ie OBIK-TIPOU3BOIUTENH 7).
«Where is the stud buck reindeer?».

1.9 .
a Tyt peekkeqeyti ongen Bamepus yBumena Pomana ongen
pe- ekke -qey -ti ongen ongen
FEM cein DIM NOM.PL DET DET
FEM son DIM NOM.PL DET DET
I?unin topeti
?- I?u -ni -n togeti  -@

2/3.S/A Bumetb 3SG.A.3.0 3SG.O TemdTH NOM.SG
2/3.S/A see 3SG.A.3.0 35G.O0 Tyngeti NOM.SG

A TyT neBoukw... Banepus yBunena Pomana, yBunena TeIHATH.
And then the girls... Valeria saw Roman, saw Tyngeti.



110 {?2unin

0-

Pu

2/3.S/A see

paangen?om
paangen =?om

BoH.TOT =EMPH
yonder =EMPH

-ni
2/3 S/A Bumerb 3SG.A.3.0 3SG.O TemdTH NOM.SG =EMPH
3SG.A.3.0 35G.0 Tyngeti NOM.SG =EMPH

waj
waj
BOT
here.is

topeti?m
-n toneti -0 =?m

torkol?inon

torko -1? -igo -n
tectukyna ATTR AUG NOM.SG
testicle ATTR AUG NOM.SG

VBuzena TeiHATH U rOBOpUT: «BOH OH, pon3BoauTeNb ! ».
She saw Tyngeti and says: «There he is, the stud buck reindeer!».

1.11

nataSana?om

natasa

-nha

Haranra AN.INS
Natasha AN.INS

torkol?inon
torko

-1?

-ipo

=?2om

niniwqin geramen
n- in- iw -qin gorom

niwqin

n- iw -qin
ST ckazars ST.3SG
ST say ST.3SG

angen
-en angen

=EMPH ST INV ckazare ST.3SG NEG.FUT GEN DET
=EMPH ST INV say ST.3SG NEG.FUT GEN DET

-n

ongen gasaas1  Poma
ongen

tectukyna ATTR AUG NOM.SG DET
ATTR AUG NOM.SG DET

testicle

Haraia roBoput: «39T0 He IPOU3BOAUTEND, 3TO A4 Pomal».
Natasha says: «This is not a stud buck reindeer, this is uncle Romal!».



